

(الف)  $\omega, 9, 13, 17, \dots$   $d = 4 \rightarrow a_n = \omega + (n-1) \cdot 4$   
 $\frac{\omega}{4} \quad \frac{9}{4} \quad \frac{13}{4} \quad \frac{17}{4}$   
 $4n+1$   
 (ب) ۱  
 $4 \times 10 + 1 = 41$   
 $\omega + (10-1) \times 4 = 41$

(الف)  $7, 10, 14, 18, \dots$   $\rightarrow 4n+2 + 10 = 40+2$   
 (ب) ۲  
 $S_n = \frac{n}{2}(a_1 + a_n) \rightarrow \frac{10}{2}(7 + 42) \rightarrow \omega \times 48 = 240$   
 $5 \leq 1 \rightarrow 16 \leq \omega \rightarrow 10 \leq 9 \rightarrow 12 \leq 13$   
 $20 \leq 17 \rightarrow 24 \leq 21 \rightarrow 28 \leq 24 \rightarrow 32 \leq 29 \rightarrow 36 \leq 33$   
 $\frac{1}{2}(130 + 118) = 124$

$1 + \sqrt{3}, 2, 3 - \sqrt{3}, \dots$   
 $+ 1 - \sqrt{3} + 1 - \sqrt{3}$   
 $a_{2n} - a_{2n-1} \rightarrow a_1 + 2nd - (a_1 + 2(n-1)d) \rightarrow 2d = 2 - 2\sqrt{3}$   
 ۳

$a_n = \omega^{2x}, 2x(\omega^2)^x, \omega^y$   $d = 2 + \omega^{2x}$   
 $\frac{2x \times \omega^{2x}}{2x \times \omega^{2x}} \quad \frac{2x \times (\omega^2)^x}{2x \times \omega^{2x}} \quad \omega^y$   
 $\omega^{(2x)} = \omega^{2x} \rightarrow \omega^y = \omega^{2x} \quad y = 2x$   
 $b_n = x, 2, y \rightarrow \frac{x+y}{2} = 2 \quad x = \frac{2}{\omega}, y = \frac{14}{\omega}$   
 $x+y \Rightarrow \frac{x+y}{2} = 2 \rightarrow \frac{2}{\omega} + \frac{14}{\omega} = \frac{4}{\omega} \Rightarrow \frac{16}{\omega} = \frac{4}{\omega}$   
 ۴

$2x-4, 2x-1, 4x, \dots$   $d \rightarrow 4x+1 = 2$   
 $\frac{2x-4}{+2} \quad \frac{2x-1}{+4x+1}$   
 $4x+1 = 2 \rightarrow 4x = 1 \rightarrow x = \frac{1}{4}$   
 $2x \times \frac{1}{4} - 4 \quad 2x \times \frac{1}{4} - 1 \quad 4x \times \frac{1}{4}$   
 $-2, 0, 1$   
 $d = 3$   
 ۵

$$a_n = \frac{r_2 d_2 V_2}{r_2} \dots d = r \quad r r s = r$$

$$b_n = \frac{r_2 d_2 \Lambda_2}{r_2} \dots d = r \quad \begin{matrix} r_n \geq -1 \leq r_1 \\ r_n \leq r \end{matrix} \quad \boxed{n \leq V}$$

$$d, 11, 1V \quad r_2 r_2 r_2 \quad r_2 d, r_1 \rightarrow r_2 V$$

$$\begin{aligned} a_1 + a_r + a_r &= r_1 \quad r_2 r = r_1 \quad a_1 \Rightarrow \frac{a_1 + r_2 d}{r} = V \\ a_1 + a_r + a_d &= r_0 d \rightarrow r_2 r = r_0 d \rightarrow a_r = r_2 d \\ a_r - a_r + a_1 &= r \\ r_2 d - V - r_1 &= V \end{aligned} \quad \begin{matrix} a_1 = -r_1 \\ a_r = V \\ a_r = r_2 d \end{matrix}$$

$$\begin{aligned} a_1 + a_r + a_r &= 1d \rightarrow r_2 a_1 + r_2 d = 1d \quad \underline{r_2 a_r = 1d \quad a_r = d} \\ a_r + a_d + a_r &= r_2 d \rightarrow r_2 a_1 + r_2 d = r_2 d \\ a_{10} &= a_r + \Lambda d \rightarrow d + \Lambda \times \left(\frac{10}{9}\right) \end{aligned}$$

$$a_{10} = \frac{r_2 d}{9} + \frac{10}{9} = \frac{1 r_2 d}{9}$$

$$S_9 = \frac{9}{r} (a_1 + a_n) = 9 \left( \frac{r_2}{r} (a_1 + a_n) \right)$$

$$\frac{9}{r} (r_2 a_1 + r_2 a_n) = \frac{r_2 V}{r} (r_2 a_1 + r_2 a_n)$$

$$9a + r_2 d = r_2 V (a + d)$$

$$d = r_2 a \rightarrow a = \frac{d}{r_2}$$

$$\frac{a r_2}{a r} = \frac{a_1 + r_2 d}{a_1 + r_2 d} \rightarrow \frac{\frac{d}{r_2} + r_2 d}{\frac{d}{r_2} + r_2 d} = r$$

$$a_1 = 11 \quad \underline{a r = r_2 d} \quad d = r \quad r_2 + V \rightarrow a r = r_2 r$$

$$r_1 = r_2 \Lambda$$

$$r_2 = r_2 r_2 \quad 1d$$

$$d = \frac{-r_2}{r_2} = -d$$

$$-d = \frac{-r_2}{n+1} = -d$$

$$n+1 = d \quad n = r \quad \text{1.}$$